Crystek Corporation

Coaxial Resonator Oscillator-CRO
CVCO55CC-1930-2110

AVAILABLE PERFORMANCE SPECIFICATION MIN TYP MAX UNITS
Lower Frequency: 1930 MHz
Upper Frequency: 2110 MHz
Tuning Voltage: 0.5 18 VDC
Supply Voltage: 7.6 8 8.4 VDC
Output Power: -3 0 3 dBm
Supply Current: 35 mA
Harmonic Suppression (2nd Harmonic): -12 -7 dBc
Pushing: 0.5 2 MHz/V
Pulling, all Phases: 1 3 MHz
Tuning Sensitivity: 15 MHz/V
Phase Noise @ 10KHz offset: -110 dBc/Hz
Phase Noise @ 100KHz offset: -133 dBc/Hz
Load Impedance: 50 Q
Operating Temperature Range: -30 +70 °C
Phase Noise (1 Hz BW, Typical)
(Phuse Hoise Z8 dB/ REF @ dBc -54.739 dBc
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START 1 kHz L0 1.8319 GHz STOP 16 FHz
N SWE PARAMN VAL
0 1 kHz -84.734 dBc
1 10 kHz -111.12 dBc
2 100 kHz -133.83 dBc
3 1 MHz -148.35 dBc
4 10 MHz -150.59 dBc
Tuning Curve, Typical
Frequency 58 MHz/ REF 2 GHz 1.592859 GHz
: : : : SEE mV
ATH @ :dB : FRES :1 kHz : : :SNP 9;39 msec
START @ ¥ POL & W STOP 28 W
N SWP PARAM VAL
D 500 m¥  1.B092059 GHz
1 9 ¥ 2.016217 GHz
2 18 ¥ 2.150666 GHz
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